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The concept of intelligence quotient (1.Q.)
was developed by :

A) Binet

C) Wechsler
D) Stern

(A)
(B) Terman
(C)
(

Which of the following is the first intelligence
test ?

A) Wechsler Intelligence Scale

B) Binet-Simon Test

(
(B)
(C) Raven’s Progressive Matrices

(D) Goodenough Draw-A-Man Test

Stimulus-Organism-Response is a part of

which approach ?
(A) Psychoanalytical approach
(B) Cognitive approach

(C) Behaviouristic approach
(D) Humanistic approach

Which of the following is not a Law of
Perception ?

(A) Law of Similarity

(B) Law of Continuity

(C) Law of Repetition

(D) Law of Exercise

What is the range of normal intelligence ?
(A) 110-119

(B) 80-89
(C) 70-79
(D) 90-109

o

(3)
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T g5 & JER 71 8 ?

A) 110-119

(

(B) 80-89
(C) 70-79
(D) 90-109
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10.

When did the army Alpha and Beta 6.
intelligence test began ?

(A) During First World War

(B) During Second World War

(C) Between 1920-1925

(D) In1908

A person who has emotional maturity is : 7.
(A) A person who never feels sad

(B) Has total control over his emotions

(C) Always react according to situation

(D) Freely expresses his emotions

Which of the following is the base of 8.
memory ?

(A) Psychological

(B) Biological

(C) Social

(D) Emotional

Which of the following is the major quality of 9.
a mentally healthy person ?

(A) Anxietyless

(B) Adjustable

(C) Self-respect

(D) All of the above

Which of the following is necessary for  1p.

memory ?

(A) Learning and Recognition
B
(C
(

D) Learning and Retention

Recall and Recognition

Retention and Recall

)
)
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Al oeE du dier g aler & e
frticiie & & fobe @He gam o ?

(A) Te¥ fa%a g5 & 9
(B) fada fave = & &g
(C) 1920-25% s

(D) 1908

& Afth FoEd ST IR Bkl 8, 98

(A) 0 A1 gEE FaT H AIHE Tl B

(B) T o & QU FE=T § @ B

(C) Rerfer & ufey wfciehar Suge FE=rT &
| B 8

(D) o1 HI & JARwEARh @ael & A
A &

afy @ o & & @ oM & ?
(A) FRaT
(B) smiRe
(C) |mHIfSTER
(D) e

frfaRad & &AM ©9 9 @R FRe H
7 faQuar & ?

frffed & & Sifd &g @ ofasas® o ¢
(A) HiET qer gesE

(B) SETETRTT qT Ted

(C) #IROT T ST

(D) HET T 9RO



1.

12.

13.

14.

15.
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Which of the following is not a step of

Psychological Experiment ?
(A) Problem
(B) Hypothesis
(C) Aim

(D) Result table

The effect of birth order on intelligence

suggest the importance of which factor ?
(A) Environment
(B) Heredity
(C) Culture

(D) Race

Which type of words were devised by
Ebbinghaus to study memory ?

(A) Meaningful words

(B) Nonsense syllable

(C) Pictorial words

(D) None of the above
Psychology has originated from :
(A) Education
(B) Philosophy
(C) Anatomy

(

D) Economics

According to Carl Rogers, the structure of

personality is based on :
(A) Ego and superego

(B) Inferiority and superiority
(C) Organism and self
(

D) Conscious and collective unconscious

1.
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14.

15.
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20.
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Which of the following quality is not a part of

attention ?

(A) Specific bodily adjustment during
attention

(B) The span of attention is limited

(C) The quality of division is found in attention

(D) The nature of attention is affective

To motivate subject through verbal learning,

which of the following method is not used ?

(A) Anxiety

(B) Deprivation

(C) Punishment

(D) Reward

Who proposed the two-factor theory of

emotion ?

(A) Hilgard

(B) Cannon-Bard

(C) Schachter-Singer

(D) Watson

The highest need assumed in Maslow’s

hierarchy theory is :

(A) Esteem

(B) Belongingness

(C) Physical Safety

(D) Self-actualization

Which of the following organs exerts more

control over emotions ?

(A) Thalamus

(B

(C

(D) Heart

) Spinal cord
)

Hypothalamus
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The 1.Q. (Intelligence Quotient) of a genius

boy is :

(A) 120

(B) More than 140

(C) More than 130

(D) 110

A psychological experiment is different from

scientific experiments because :

(A) This experimentis conducted on a living
person

(B) Theresultofitis used for human welfare

(C) These experiments are easy

(D) Possibilities of individual differences

Which of the following is the subject related

to determinants in verbal learning ?

(A) Memory span

(B) Motivation

(C) Age

(D) All of the above

What is the age indicating the beginning of

decline in intelligence ?

(A) 30

(B) 38

(C) 50

(D) 40

What is the formula of chunking in short-term

memory ?

21.

22.

23.

24.

25.
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gfrSel S & gia-ared @ e o ?
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(C) 130 & a1ferp
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26.  The Law associated with movement in  26.  SO&WE &6 § A & O 98 M99 & ¢
erceptual organization is :
percepiual organtz (A) F99s @1 e
(A) Law of closure

(B) @w&gal &1 E|
(B) Law of symmetry

(C) Law of continuation (C) TFRewe 1 e
(D) Law of common fate (D) &w el e
27.  Concept of ‘Social Intelligence’ was  27. ‘Wi & & THET Hl TGAT it
proposed by : SR
(A) Thurstone (A) o=
(B) Thomdike (B) divtere
(C) Spearman (C) Tha=ae
(D) Guilford (D) Frawig
28.  Figure-ground segregation is : 28.  STHR-9W TEEHRRTT T 8 7
(A) Figure determined (A) ST FeiRa
(B) Innate (B) ST
(C) Acquired (C) efdta
(D) Both innate and acquired (D) TN ST SR St
29.  In which condition of sustained attention, 29.  dgd SfauN H A W F T Siftree
performance is more efficient ? SRITYCT B © 7
(A) Intensity of events (A) =TSt @l dear
(B) Knowledge of result (B) uRemHt & S
(C) Fixed spatial location of stimulus (C) STiuk & T Srarafa & Mz
(D) All of the above (D) SWH Gt
30.  Achievement Motivation is related to : 30.  Iyde AR TErEd R
(A) Biological Motivation (A) S eifpRs &
(B) Social Motivation (B) HmIoTE SRS &
(C) Psychological Motivation (C) AT SERE &
(D) None of the above (D) SR | & P Tl

PSY./A090101T-B/270 (8)
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35.
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What is the maximum time limit of short-term
memory ?

(A) 10 seconds

(B) 30 seconds

(C) 1 minute

(D) 30 minutes

Psychology is mostly used in which field ?
(A) Education

(B) Counselling

(C) Medicine

(D) All of the above

Storage capacity of short-term memory is :
(A) 4-8 items
(B) 5-9items
(C) 3-7 items
(D) 10-15items

Which was the first subject-matter of
Psychology ?

A) Mind

B) Soul

C) Consciousness

(
(
(
(D) Behaviour

The appropriate subject-matter of today's
Psychology is :

A) Human

B) Behaviour

)
C) Human and animals

(
(
(
(D) Mind

31.

32.

33.

34.

35.
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39.

40.
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Which among the following leads to more

forgetfulness ?
(A) Sleep

(B) Doing new work

(C) Injury in brain

(D) None of the above

Which of the following is symptom of
motivation ?

A) Productivity

B) Resource

(
(B)
(C) Influencing behaviour
(D) All of the above

Classical and instrumental conditioning is
related with :

A) Pavlov and Skinner
B)
C) Pavlov and Thorndike
D) Skinner and Freud

Freud and Paviov

(
(
(
(

Among the following, which is more
forgetful ?

(A) Useless thing
(B)
(C) Beautiful thing
()

By birth motivation is also called as :

Useful thing

None of the above

(A) Physical motivation
(B) Primary motivation
(C) Biological motivation

(D) All of the above

36.
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The reason behind attention towards the big
headlines of the newspaper is :

(A) Change in stimulus
(B) Size of stimulus

(C) Interest of the person
(D) Novelty of stimulus

Which of the following has smallest
duration ?

(A) Iconic memory

(B) Echonic memory

(C) Short-term memory

(D) Autobiographical memory

Which among the following are the two main
Instinct according to Freud ?

(A) Aggression and anxiety

(B) Ego and superego

(C) Eros and thanatos

(D) Id and superego

Which of the following is not a part of G.S.R.
of the physiological determinants ?

(A) Muscular activities

(B) Blood circulatory activities

(C) Activities of sweat glands

(D) Activities of brain

Number of major traits in Personality as told
by Cattell are :

(A) 10
(B) 1
(C) 2
(D) 3

[4) BN o>}

4
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45.
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47.

48.

49.

50.
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“Behaviour is directed by suppressed
desires of unconscious mind.” This thought
was given by which psychologist ?

(A) Freud

(B) Maslow

(C) Wertheimer

(D) Rogers

“To perceive an object as a whole” is a
thought of :

(A) Behaviourist

(B) Structuralist

(C) Gestaltist

(D) Humanistic

“‘Sadness is the cause of destruction.” This
statement is related with which Indian
philosophy ?

(A) Shrimad Bhagwad Gita

(B) Samkhya Darshan

(C) Buddhism

(D)

In verbal learning which method is used to

Ramayana

learn its material fastest ?

(A) Partial method

(B) Whole method

(C) Paired-association method
(D) Audio-Visual method

In condition experiment of Pavlov, what was
the dog given before food ?
(A) Electric shock

(B) Bell

(C) Water

(

D) None of the above

)
)

46.

47.

48.
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"Personality is the dynamic organization of  51.

traits", who said it ?
(A) Eysenck

(B) Cattell

(C) Allport

(D) Adler

Hypothalamus is considered as critical aspect ~ 52.

of emotion in :

(A) James-Lange theory
(B) Cannon-Bard theory
(C) Activation theory
(D) Attribution theory

Sensations that give rise to misperceptions are  53.

called :

(A) Tllusion

(B) Hallucination

(C) Figure-background reversal

(D) Empathy

Avoidance learning paradigm involves : 54.

(A) Pavlovian conditioning only

(B) Instrumental conditioning only

(C) Both Pavlovian and Instrumental
conditioning

(D) Presensory conditioning

The mother-in-law and my wife figure was  95.

drawn by :
(A) Boring
(B) Ammons
(C) Leeper
(D) None of the above

(13)
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60.
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Who established the first laboratory of
Psychology ?

(A) Helmholtz

(B) Herbart

(C) Wundt

(D) Lange

Attention is process by which we select :
(A) Objects

(B) Stimulus

(C) Interesting objects

(D) Determinants of attention
Psychology is the science of :

(A) Mind

(B) Soul

(C) Consciousness

(D) Behaviour and mental process

Which law is not included in central law of

perception ?

(A) Law of meaning

(B) Law of experiment

(C) Law of set

(D) Law of meaningfulness
The word 'Persona’ relates to :
(A) Organism

(B) Knowledge

(C) Ability

(D) Personality

56.

o7.

58.

59.

60.
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64.

65.

PSY./A090101T-B/270

A patient being attentive to a medical store is

which type of attention ?

(A) Voluntary attention

(B) Habitual attention

(C) Involuntary attention

(D) Fluctuated attention

Which is the part of sensorial memory ?
(A) Episodic memory

(B) Semantic memory

(C) Echoic memory

(D) Procedural memory

Thirst is type of :

(A) Cyclic need

(B) Non-cyclic need

(C) Specific need

(D) General need

The practical intelligence is called :
(A) Concrete intelligence

(B) Abstract intelligence

(C) Social intelligence

(D) Cognitive ability

Which of the following hormones are secreted

more in quantity during emotional situation ?
(A) Insulin

(B) Androgen

(C) Estrogen

(D) Epinephrine and Norepinephrine

61.
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63.

64.

65.

(15)

TN T GG &1 B G B AN T R
fopd SOl B S e ?

(A) URsh @

(B) w@rHIiaRp 1L

(C) omfes® Sraem

(D) SRR e

feriferer & & ey ot Wy & @ o T 87
(A) s T

(B) s ey

(C) wicreaf wfcr

(D) wrdfafe =g

[ Th T @

(A) =T AT B

(B) STERHA STELTH ©

(C) fafarse emasFwa &

(D) | TEIHAT B
ARG & H FeT o &
® T g

(B) sFid I

(C) wror g

(D) I &FaT

GO Rufa § fhg 2 & 999 ST
gg e s ?

[PTO]



66.

67.

68.

69.
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Personality is influenced by : 66.

(A) Only biological factors
(B) Only socio-cultural factors
(C) Interaction of biological and social factors

(D) None of the above

Homeostasis is known as : 67.

(A) System of restoring a state of equilibrium
(B) Maintaining arousal at desired level
(C) Balancing the physiological state

(D) Reducing emotional state

Psycho-galvanic response in emotion is  68.

measured by :
(A) EE.G.
(B) E.C.G.
(C) EMG.
(D) G.SR.

Emotional experience precedes emotional  69.

behaviour in the theory of :
(A) Cannon-Bard
(B) James-Lange
(C) Dollard-Miller
(D) Koffka-Kohler

Which type of memory is least susceptible to  70.

forgetting ?

(A) Episodic memory

(B) Autobiographical memory
(C) Semantic memory

(D) Eye-witness memory
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1.

72.

73.

74.

75.

A study in controlled condition is called :
(A) Measurement

(B) Experiment

(C) Observation

(D) Testing

Self-system is related with :

(A) Thinking

(B) Perception

(C) Both (A)and (B)

(D) None of the above

The term Psychology was coined by :
(A) Wertheimer

(B) Lange

(C) Melanchthon

(D) Herbart

Meaning of stimulus is :

(A) Which is measured

(B) Effect of which is observed

(C) Which is abstract

(D) Which evokes response

Making the sensation meaningful is called :
(A) Image

(B) Perception

(C) Psychological process

(D) None of the above

PSY./A090101T-B/270
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2.

73.
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76.

7.

78.

79.

80.

PSY./A090101T-B/270

The organism receives reinforcement when it 76.

learns to give a certain expected response. This

is termed as :

(A) Classical conditioning
(B) Instrumental conditioning
(C) Intermittent reinforcement

(D) Ratio reinforcement

Echoic memory refers to : 7.

(A) Avisual perception
(B) Verbal codes
(C) Auditory perception

(D) Inactive codes

The two-factor theory of intelligence is related  78.

with

(A) Binet

(B) Spearman
(C) Thorndike
(D) Raven

Which of the following is a symptom of  79.

motivational behaviour ?
(A) Changes in heartbeat
(B) Respiratory changes
(C) Direction in behaviour

(D) Reinforcement

The number of factors of intelligence according  80.

to tridimensional theory is :
(A) 90 (B) 110

(C) 135 (D) 150

(18)

g Yo a9l I FRAT & 9 g8 WivEd
TR SRR 3T Eradr B 36 @ M
fegr o ® ?

(A) FATR STFSET

(B) wfftes STgere

(C) werTH greie

(D) ST grifer

PR T (SfcTearITeT) e Sang Kl © ?
(A) TH T TAE

(B) smisash wfe

(C) ST ST

(D) fifera e

gfs @1 fepre e awred §

A = 9
(B) TEREN @
(C) usE® |

(D) &9 ¥

frfifae & & B9 SIREIRT FaeR # e
g7

(A) &g Ta § aRacs

(B) sa&™ uRaaH

(C) ZaeR # f&am

(D) &=

gf& & Pomr e & ogar 3 3
B B T R

(B) 110
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81.

82.

83.

84.

85.

86.
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Which type of observation is done by an anchor ?
(A) Controlled observation

(B) Uncontrolled observation

(C) Participant observation

(D) Non-participant observation

Contours are available for :

(A) Figure background

(B) Figure

(C) Sensation

(D) Background

Higher mental process is based on :

(A) Cognitive approach

(B) Psychoanalytic approach

(C) Huministic approach

(D) Behaviouristic approach

A suggested answer to a problem is said to be :
(A) Cause (B) Hypothesis
(C) Problem (D) Law
Interposition provides cue for :
(A) Size

(B) Shape

(C) Motion

(D) Distance and Depth

In India, where we find the basic source of

Psychology ?

(A) Sindhu Sabhyata
(B) Ramayana

(C) Bhagawad Gita

(D) Economics

81.

82.

83.

84.

85.

86.

(19)
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(A) BT (B) IRl

(D) FE=
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(C) wH&Erm

(B) R
(C) g i |
(D) erefamesr #

[PTO]



87.

88.

89.

90.

91.
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The vase face figure was constructed by : 87.

(A) Helmholtz
(B) Koffka
(C) Gregory
(D) Rubin

What is response ? 88.

(A) An activity
(B) Image
(C) Response to stimuli

(D) None of the above

Paying attention to an object owing to interestis  89.

called :

(A) Habitual attention
(B) Voluntary attention
(C) Stimulus attention

(D) Analytical attention

Which biological determinant has effect onthe ~ 90.

Personality ?

(A) Physical structure
(B) Nervous system
(C) Homeostasis

(D) All of the above

'An object is perceived as a whole', who said ~ 91.

it?

(A) Fisher

(B) Dember

(C) Boring

(D) Koffka and Kohler

(20)

el Fed’ o @ A
(A) BewElesT

(B) #hIehr
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(D) & =
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(B) ferm
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g
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92.

93.

94.

95.
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Which of the following sequence represents  92.

nature of motivation ?

(A) Homeostasis-need-drive-response
(B) Homeostasis-drive-need

(C) Need-drive-homeostasis-response

(D) Need-drive-response-homeostasis

Skinner to instrumental learning as Bandurais ~ 93.

to:

(A) Associative learning
(B) Perceptual learning
(C) Observational learning

(D) Social learning

1.Q. is calculated with the help of the following ~ 94.

formula ;

MA + CA
100

MA
(B) —— x 100
CA

MA x CA
100

CA
(D) —— x 100
MA

Illusion is : 95.

(A) False perception
(B) Misinterpretation of sensory stimulus
(C) Distorted ideas about stimulation

(D) Automatic self-deception

(21)

frfofed & | -8 FAIGHT SARERET &
&Y B e B 8 ?
(A) THR- AT H-HoNET -3 haT
(B) HHREf-ToNeH-3Ta sl
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ST ©
S G + ardias g

A 100
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96.

97.

98.

99.

100.
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The concepts of life (eros) and death (thanatos)
instincts was proposed by :

(A) McDougall

(B) Adler

(C) Freud

(D) Dollard and Miller
Stir in behaviour is called :
(A) Tension

(B) Anxiety
(©)

(D) Emotion

Motivation

What is the name of the process of internal

bodily balance ?

(A) Need satisfaction

(B) Thermostat

(C) Homeostasis

(D) None of the above

The 1.Q. below 70 is an indication of :

(A) Mental abnormality

(B) Mental normality

(C) Borderline intelligence

(D) Mental retardation

Which of the following can be included in the

Psychological content ?

(A) Studying books in psychology

(B) Drawing the diagram of psychological
instruments

(C) To study the human behaviour and cognitive
processes

(D) Having discussion with psychologists

96.

97.

99.

100.

(22)
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4, Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.
8. There will be no negative marking.
9. Rough work, if any, should be done on

the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

1. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.
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91 @ @ © ©
w2 @ ® O
w3 ® @ © ©
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5. Tl I B AToTHoIRo  ITL-UFH
(OMR Answer Sheet) ® & @ I 2|
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Sheet) W %5 1 e § 7@ 399 3 ™
gl oTRdl F WEEFIYES B A S|
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N I OMR Answer Sheet SUwe
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8. fitfea mfesm =&t B
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